05/04/09 16:58 MATLAB - Cemmand,wlndow 1 of 1
>> z=randn(1,1000); & NO“"&C Z V\'W ‘)
>> y=filter([1],[ 1 -0.6] l = Lv\ 3

>> arkobo=arbootstr(y,1,1000) g
>> hist (arkobo,100)
>> type arbootstr

@w»

function arkobo=arbootstr ( y p B)

arkobo=1[1];

fi=yuwaest (y,p); &— ™MWLC -W_C"'—“"f“ ELTiMma™= 4 N\ . T _
res=filter([1 -£i], [ 1 1,y); 4— @QE&€%idwin} (étf USC = }L Er);c-\ ( HA U\*‘m‘m{
for i=1:B X/ ' '

e=stovelstropp(res); ¢ ¢>¢ -(\ A% >
5 \e = N P, . % <
yboots=filter([1 ],[ 1 -fi ],e); =~ i i kf\.f“ 2 i

arbo=yuwaest (yboots,1l); 66— {‘x
arkobo=[arkobo arbo]; Tt

end

L’ kcAhua u= ?J‘l

>> std(arkobo) a0 v‘ 
%o @b &«wm 03)21

0.0245

>> arkobo=arbootstr(y,1,1000);
b hiSt(arkObo'loo)‘/—/_/ — TWE FerAMVeTvz 02 = 3
>> z=rand(1,1000); @ é ‘ -

>> y=filter([1],[ 1 -0.2],2);

>> arkobo=arbootstr(y,1,1000) ;
>> hist (arkobo,100)

>> arkobo=arbootstr(y,1,1000);

fi =

0.2841

>> hist (arkobo, 100) (\/\7‘ Yiow - Tl o
>> std(arkobo)

ans =
0.0302
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